Case study #5

One case at a time: 

(a) [7.4.2.2 An arrow shot before or after the specified time, will be considered as being part of that end and will cause the competitor to lose the highest scoring arrow of that end which will be scored as a miss.]  An archer shoots an extra arrow after the whistle. The arrow shot may be hard to identity. If the arrow shot after the whistle could not be identified, then the three lowest scoring arrows would be scored. 

(b) [7.4.2.3 An arrow shot before or after the specified time that can be clearly identified by the Judges will cause the archer to lose the value of that arrow.] In this case, the identified arrow will be a zero because it was shot after time period and the zero arrow will be part of the scoring end, as the three lowest scoring arrows will be scored. 

Case study #6 

Equipment failure is a broad term. We have had archers who arrived late due to traffic and weather problems and we always allowed them to make-up arrows. I think the archer should be allowed to make-up these arrows. The question Don Lovo always asks is: “Did the delaying of shooting his arrows cause an unfair advantage over the other archers?” In this case – no! 

The only problem I foresee is in the case that a person did not like the current weather conditions and “forced” an equipment failure to delay shooting that end but that can be hard to prove. It is still hard to prove and equipment failure as it is common knowledge that if you are running out of time and get nervous, you can move your clicker and claim an equipment problem. Not ethical but certainly not easy to prove guilt. 

a. Was the action of the judges correct? Which time? They made one choice (good choice) and then reversed that choice (which I say is wrong). 

b. The jury should never have been chosen with participants and I consider coaches as participants because they have as much a vested inters test as their team shooters. I say the jury was wrong.

